	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				68,719	cords	
Hardwood				68,108	cords	
Pulpwood (Total)				136,827		
Chip & Saw				2,768	cords	
Saw Timber						
Pine				41,472,178	board feet	
Hardwood				6,744,309	board feet	
Saw Timber (Total)				48,216,487		
Total Pulpwood, Chip & Saw, Saw Timber FOB Mill						\$32,728,60
Total Forestry Stumpage						\$19,587,71
Christmas Trees	*			100	trees	\$4,00
Pine Straw	*			16,595	bales (40 lbs.)	\$33,19
Forestry (Total)				,	( )	\$32,765,79
FRUITS						
Blackberries	*	1.0	400.00	400	pints	\$40
Blueberries	*	1.3	2,000.00	2,500	lbs.	\$3,12
Mayhaws						-
Orchard	*	5.0	200.00	1,000	lbs.	\$1,25
Mayhaws (Total)		5.0				\$1,25
Muscadines	*	5.0	3.00	15	tons	\$4,50
Peaches	*	30.0	180.00	5,400	bu.	\$162,00
Fruits (Total)		42.4				\$171,27
FEED GRAINS						
Corn	*	198.0	150.00	29,700	bu.	\$68,01
Feed Grains (Total)		198.0				\$68,01

Page 1 of 6

PLANT ENTERPRISES PRODUCTION								
Crop	Number of Producers	Acres	Yield per Acre		Total Production	Units of Measure	Gross Farm Value	
GREENHOUSE VEGETABL	ES							
Tomatoes	*	10,000.0	5.60	Yield / sq. ft.	56,000	lbs.	\$75,600	
Greenhouse Vegetables (Total)	)	10,000.0					\$75,600	
HAY FOR SALE								
Grass	20	7,500.0	4.00		30,000	tons	\$1,500,000	
Hay for Sale (Total)		7,500.0					\$1,500,000	
HOME GARDENS	2,500						\$750,000	
NURSERY CROPS								
Fruit and Nut Trees	*					acre	\$16,000	
Floraculture & Bedding	*					acre	\$20,000	
Plants								
Woody Ornamentals	*					acre	\$30,000	
Foliage Plants	*					acre	\$10,000	
Nursery Crops (Total)							\$76,000	
VEGETABLES								
Cantaloupe	*	3.0	150.00		450	cartons (40 lbs.)	\$6,750	
Collards						105.)		
Fresh	6	4.0	600.00		2,400	doz. bunches	\$16,800	
Collards (Total)		4.0			,		\$16,800	
Mustard (Fresh)	6	4.0	600.00		2,400	doz. bunches	\$16,800	
Okra (Fresh)	7	10.0	250.00		2,500	bu.	\$50,000	
Snap Beans (Fresh)	*	10.0	100.00		· · · · · · · · · · · · · · · · · · ·	bu. (30 lbs.)	\$20,000	
Southern Peas (Fresh)	25	20.0	96.00			bu. (24 lbs.)	\$38,400	
Sweet Corn (Fresh)	*	5.0	500.00			doz. ears	\$7,500	
Tomatoes (Field)	*	20.0	1,000.00			lugs (20 lbs.)	\$300,000	
Turnips (Fresh)	6	5.0	600.00			doz. bunches	\$21,000	
Watermelon	*	30.0	150.00		4,500		\$27,000	

Page 2 of 6

	P	LANT ENT	<b>ERPRISES PROD</b>	DUCTION		
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
Vegetables (Total)		111.0				\$504,250
TOTAL ALL PLANT EN	TERPRISES					\$35,910,931

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION								
Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value		
AQUACULTURE								
Catfish (Farm)	*	4	Acres in Prod.	7,300	lbs.	\$4,161		
Minnows	*	10	Acres in Prod.	500	lbs.	\$1,625		
Fish bait	*			1,000	lbs	\$6,000		
Other Species	*	20	Acres in Prod.	75,000	lbs.	\$22,500		
Aquaculture (Total)						\$34,286		
FUR ANIMALS				70	pelts	\$371		
HUNTING LEASES	400	200,000	No. Acres		acre	\$1,100,000		
			Leased					
HONEY	*	40	No. Hives	600	lbs.	\$810		
TOTAL ALL FISHERIES	& WILDLIFE ENTERPRISES					\$1,135,467		

	ANIMAL ENTERPRISES PRODUCTION							
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value			
CATTLE & CALVES								
Steer Calves								
300-400 lbs.			4,000	head	\$1,453,480			
400-500 lbs.			2,200	head	\$919,611			
500-600 lbs.			1,400	head	\$643,258			
					Page 3 of 6			

		<u>N</u>	S PRODUCTIO	<u>AL ENTERPRISES</u>	ANIMAI	
Gross Farm Value	Units of Measure	Total Production		Units of Production	Number of Producers	Animal
value	wiedsuie	Troduction		Troduction	Tioduceis	
¢70.000	haad	150				CATTLE & CALVES 600-700 lbs.
\$78,000	head	150				
\$3,094,349						Steer Calves (Total) Heifer Calves
\$060.320	hand	2 000				300-400 lbs.
\$960,330 \$376,965		3,000 1,000				400-500 lbs.
\$376,963	head	,				500-600 lbs.
\$170,625	head					600-700 lbs.
\$1,827,360	lieau	550				Heifer Calves (Total)
\$1,827,500						Yearling Cattle
\$260,000	head	500				600-700 lbs.
\$200,000	head					700-800 lbs.
\$569,375	neau	550				Yearling Cattle (Total)
\$432,000	pair	600				Cow-Calf Pairs
\$132,000	head					Cull Cows
\$91,313	head					Cull Bulls
\$6,146,487	neud	125	No. Cows	15 120	285	Cattle & Calves (Total)
\$0,110,107				10,120	200	DAIRY
						Dairy Cows
\$153,304	pounds	1,180,171	No. Adult Cows	100	*	Milk
\$12,141	head			100		Cull Cows
\$1,513	head					Bull Calves
\$166,957						Dairy Cows (Total)
\$73	Pounds	330	Total Adult	10	*	Dairy Goats
			Does			2
\$167,030						Dairy (Total)
						HORSES
						Brood Mares
	Pounds	330		10	*	Dairy (Total) HORSES

ANIMAL ENTERPRISES PRODUCTION

Page 4 of 6

	ANIM	AL ENTERPRISE:	<b>S PRODUCTIO</b>	N		
Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
HORSES						
Race Horses	20	300	No. Brood Mares	20	head	\$120,000
Show Horses	35	350	No. Brood Mares	50	head	\$150,000
<b>Recreation Horses</b>	45	930	No. Brood Mares	150	head	\$225,000
Brood Mares (Total)						\$495,000
Stud Fees						
Race Horses	*	5	No. Stallions	20	mares bred	\$50,000
Show Horses		10	No. Stallions	50	mares bred	\$75,000
Recreation Horses		10	No. Stallions	70	mares bred	\$7,000
Stud Fees (Total)						\$132,000
Race Horses	20			340	head	\$3,400,000
Show Horses	35			450	head	\$1,800,000
Recreation Horses	45			1,000	head	\$1,000,000
Horses (Total)						\$6,827,000
POULTRY						
Broilers	*			6,402,000	lbs.	\$3,905,220
Cull Hens				1,231,913	lbs.	\$184,787
Breeder Flocks	*	161,108	No. Birds	2,013,848	doz. hatching	\$765,262
					eggs sold	
Poultry (Total)						\$4,855,269
RABBITS						
Fryers	*	250	No. Animals	600	lbs.	\$480
Does	*	100	No. Animals	1,500	lbs.	\$22,500
Rabbits (Total)						\$22,980
QUAIL	*	150	No. Breed	500	each	\$1,000
			Stock			
GOATS						
Show Goats				10	head	\$1,500

# AL ENTERDRICES PRODUCTION

Page 5 of 6

ANIMAL ENTERPRISES PRODUCTION							
Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value	
GOATS							
Slaughter Goats				50	head	\$4,250	
Stocker Goats				30	head	\$1,950	
Cull Goats				25	head	\$1,050	
Goats (Total)	10	100	No. Does			\$8,750	
SWINE						-	
Show Pigs				20	head	\$6,000	
Feeder Pigs				200	head	\$3,600	
Slaughter Hogs				100	head	\$12,350	
Culls				10	head	\$1,100	
Swine (Total)	*	30	No. Sows			\$23,050	
EXOTIC ANIMALS						,	
Deer/Antelope	*	4	No. Animals	0	head	\$0	
Llama	*	6	No. Animals	0	head	\$0	
Exotic Animals (Total)						\$0	
TOTAL ALL ANIMAL EN	NTERPRISES					\$18,051,566	
WEBSTER PARISH T	OTAL					\$55,097,964	